1.5

2R

= 9/A

Hj

VTR

fhZe (AR01)

TH4 | R3BE Pt GBI  Brg - o) ifh AERERE HEN Sy T AR - &7
L3 THXSy W TH
THX 5y - AR - 85 - A0 Bikk HLAZ ¥ (mifa)) e (4m) sl e

MRt TH

= 1

R B L
= 1
G il

= 1
RS L

i i 16
AT

= 1

faAiE L
= 1
HHEL7" 5y Ml T

= 1
R VMU T

%N 3,728
IR VAR

%N 3,728
WU R L 2

e 4
=5

m2 2,230

- TR I




1.5

2R

=1

RfEZR (AN01)

Hj

TH4 | R3BE Pt GBI  Brg - o) ifh AERERE HEN Sy T AR - &7
TH THEX5 Rt T
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e

Bt
m2 2,230
S T
= 1
ER AP T
= 1
B 98 A FEAERFRIE R Wb - SRR
] 1
G an
= 1
A
= 1
SIS A A
AH 50
A2 A B B
AH 250
S L0
= 1
TR B RAE T
= 1
BUG@RAET
(B (E)
= 1
9 - e




T ERTEER (401)

T4 | R3ML P imAtm GEIE FrE - B ith  ERiEkE FERX Sy THEHERR - (ETE
T= THEXS SliE 35
THFX Sy - TFE - FER - A5 JA% BT g (FilmE) HE (5E) B i 2
T BRALFER Gk T N 5&)  Ixba-b At
R AR R (1@) , IS T hE
&, Ak 1= m2 14
T BRAETE R (HETFEH T8 R
SRR SR QRIS Y /J8) , BEE T
TAREAE, B2t % 2la] m2 14
R WALFE| COGBlLBE%)  BimtE7 iy
Ter Rkl W, Bk E T hE A,
BRI 1A m2 14
% BALFER COGHS 1) « 5 - F kg
BBl R, BAEE T LERG, s
% 1= m2 14
B REE T
(& IR VB
= 1
T BALFRR Gk T T &) Ixba-t M
R AR R (1@) , IS T hE
1, Bk 1] m2 19
T RALFER| (TR T %) - BRI
FRHIE SR QIR Y /J8) , WL AT :
TAREAE, B2t % 2la] m2 19
R WALFE| COG Bl B E%)  RimtE7 iy
TRkl B, BT HhEAE,
wAEEE 1A m2 19
RS WALFE| COG Bl 1B I%) 5o Fls
Rl 5, IS T ALERE, Bk
[ %5 1m] m2 19
R
= 1
BiSTi T
= 1
_ 3= TR IR




1.5

2R

=1

RfEZR (AN01)

Hj

TH4 | R3BE Pt GBI  Brg - o) ifh AERERE HEX Sy T AR - (&7
T= THXy il ol et
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e
HLima (K L)
= 1
T HE
= 1
Bl E
= 1
THJRUifh
= 1
— MR PR
= 1
TS
= 1
THABIRE K O 5 1 2 B4
= 1
THEF
= 1
g e




